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@D 4cm @ 5cm ® 6cm @ 7cm ® 8cm



WA 3x—11 = —5x+132] a7} x of] TS HH 4] 3(ax-2) = 2ax+6
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3. WA 4.2x-8 = 3x-0.89] 7} xofl TEH A A 2(ax—5) = dax>-1
o] s o] 3uid o, a O] gh= F-skoiet
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ohe Fold WAL 7Ha6) shof ax = b o] B2 ehfge o,
b ARAQ AFES)

26— {34+ (3x-4)} =6(x-7)

D 22 ® 34 ® 41 @ 48 ® 50
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3 1
1-04x= 3 +0.1x, 0.3(2x—-4) = 5(3 - 6x)
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e WA F I8 b 2 5ok He A e

@ 2x=10-3x @ 9-2x=x
® 2(x+2)=1 @ 3(x—1)=4x

® 4(2x-3) = 5x
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+a 7t x=1¢ ), 2a + 39



3(x-1)= 4< x - 4)+1%ax+b=09]%_1§7§ﬂ

+ b9 gh= Fstofzh
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Q0] 2] 5227} A19] Ae] S2pe] 2 wpel
Q] Ate] $749t 49 Ao £4E v A

% = _/IK“E-E]— 18 U}—:L
AR AS Q] A £2E x 2 & o, x ol J?%ﬁi Aoz guke
e
@ 12x-18 = 21x @ 12x+ 18 = 21x
® x+2x=18 @ 10x+x=20x+ x

® 10x + 20x = 18



11.

o sk o] 2yl AR 8H 47k 1200 el glek. e el A
sloll wlal Hebge 4 %Ak olshye 2 %ETtetel WA o=
2790] FOATST 2 WY $B 0 Bl o] B 02

@ x+ (1200 - x) = 1194

@ 0.96x + 1.02(1200 - x) = —24
® 0.04x + 0.02(1200 — x) = —24
@ —0.04x + 0.02(1200 — x) = —24

® —1.04x + 1.02(1200 — x) = —24



12. 3% o] AgE 400g 78 % o] AHE 600g & 41 2H a % o] AgE0]
Hoka gt} g 9] ghe Fshoiel
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@ x=-20 @ x=-12

@ x=10 G x=14




